
ASSEMBLY INSTRUCTION

Description: MASELLA 4 PIECE RATTAN SOFA SET
PLU number: 146006

01-10



A

B

C

D

Alenkey 4 x 60

E

1 10 PCS x 2

4 1 PC

2

M6x40 mm

Ø6 x 14 mm

1 PC x 2

02 / 10

10 PCS x 2

1 PC x 2

1 PC x 2

1 PC x 2

1 PC x 2



50%

03 / 10

1

2

2
2

1
1

1

1

2

2

C

B

C

B
A

50%

X 2

X 2



3

04 / 10

3

1

1

1 1

22

2

2

2

2

A B

D

E

50%

100%

X 2

X 2



05-10

A

B

1 PC

1 PC

F 1 PC

G 1 PC

H

Alenkey 4 x 60

1 11 PCS

4 1 PC

2

M6x40 mm

Ø6 x 14 mm

11 PCS

1 PC



06-10

50%

50%

1

2

1 1

1

1

2

2

2 2

B

B

F

A

F



07-10

3

3

1

1

1 1

1

1

1

2

2

2

2

2

2

BA
G

H

50%

100%

2



K

L

M

2 PCS

1 PC

1 PC

08 / 10

O

Alenkey 4 x 60

1 4 PCS

4 1 PC

2

M6x40 mm

Ø6 x 14 mm

8 PCS

M6x20 mm

3 4 PCS

1 PC



50%

50%

09 / 10

1

2

1
1

1 1

22

2 2

2
2

2 2

K

L

K

M

K K

33

3 3



10 / 10

3

3

O

100%


